

$$\lim_{x \rightarrow +\infty} (1/x^2) [1/e (1 + 4/x)^{x/4} - (2/\pi) \arctan(x/\pi)]$$

$$\lim_{x \rightarrow +\infty} x^2 \left[\frac{1}{e} \left(1 + \frac{4}{x} \right)^{x/4} - \frac{2}{\pi} \operatorname{ARCTAN}(x/\pi) \right] = \frac{22}{3}$$

$$\left(1 + \frac{4}{x} \right)^{x/4} = e^{\frac{x}{4} \log \left(1 + \frac{4}{x} \right)}$$

$$\begin{aligned} \frac{x}{4} \log \left(1 + \frac{4}{x} \right) &= \frac{x}{4} \left(\frac{4}{x} - \frac{1}{2} \left(\frac{4}{x} \right)^2 + \frac{1}{3} \left(\frac{4}{x} \right)^3 + o\left(\frac{1}{x^3} \right) \right) = \\ &= 1 - \frac{1}{2} \left(\frac{4}{x} \right) + \frac{1}{3} \left(\frac{4}{x} \right)^2 + o\left(\frac{1}{x^2} \right) \end{aligned}$$

$$\begin{aligned} \left(1 + \frac{4}{x} \right)^{x/4} &= e^{\left[1 - \frac{1}{2} \left(\frac{4}{x} \right) + \frac{1}{3} \left(\frac{4}{x} \right)^2 + o\left(\frac{1}{x^2} \right) \right]} = \\ &= e \left\{ 1 - \frac{1}{2} \left(\frac{4}{x} \right) + \frac{1}{3} \left(\frac{4}{x} \right)^2 + \frac{1}{2} \left[-\frac{1}{2} \left(\frac{4}{x} \right) + \frac{1}{3} \left(\frac{4}{x} \right)^2 \right]^2 + o\left(\frac{1}{x^2} \right) \right\} = \\ &= e \left[1 - \frac{2}{x} + \frac{16}{3} \left(\frac{1}{x} \right)^2 + 2 \left(\frac{1}{x} \right)^2 + o\left(\frac{1}{x^2} \right) \right] \end{aligned}$$

$$\operatorname{ARCTAN}(x/\pi) = \frac{\pi}{2} - \operatorname{ARCTAN}\left(\frac{\pi}{x}\right)$$

$$(2/\pi) \operatorname{ARCTAN}(x/\pi) = 1 - \frac{2}{\pi} \operatorname{ARCTAN}\left(\frac{\pi}{x}\right)$$

$$\operatorname{ARCTAN}\left(\frac{\pi}{x}\right) = \frac{\pi}{x} - \frac{1}{3} \left(\frac{\pi}{x} \right)^3 + o\left(\frac{1}{x^3} \right)$$

$$\begin{aligned} (2/\pi) \operatorname{ARCTAN}(x/\pi) &= 1 - \frac{2}{x} + \frac{2\pi^2}{3} \left(\frac{1}{x} \right)^3 + o\left(\frac{1}{x^3} \right) = \\ &= 1 - \frac{2}{x} + o\left(\frac{1}{x^2} \right) \end{aligned}$$

$$x^2 \left[\frac{1}{2} \left(1 + \frac{4}{x} \right)^{x/4} - \frac{2}{5} \operatorname{ARCTAN}(x/5) \right] =$$

$$= x^2 \left[\cancel{1} - \cancel{\frac{2}{x}} + \frac{22}{3} \left(\frac{1}{x} \right)^2 + o\left(\frac{1}{x^2}\right) - \cancel{1} + \cancel{\frac{2}{x}} + o\left(\frac{1}{x^2}\right) \right] =$$

$$= x^2 \left[\frac{22}{3} \left(\frac{1}{x} \right)^2 + o\left(\frac{1}{x^2}\right) \right] = \frac{22}{3} + x^2 \overset{\rightarrow 0}{o\left(\frac{1}{x^2}\right)} \rightarrow \frac{22}{3}$$